AR,

S
3 EXNSA (&Y -
2l

&l EX 2= A3t CERED)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2

EX= X 32,614,478 42,844,200 A~ 10,229,722
Xl 16,470,372
< 16,144,106

SENIA (&Y - SAI/MHXE - DTG} 9,037,546 12,662,000 A3,624,454
Xl 4,923,372
= 4,114,174

ShsxEs 2 238,600 286,000 AA4T7,400

JIERX OHAIE &K 154,200 198,000 A43,800

201 Y EH2 | 119,000 150,800 31,800

01 AtR2t2ltl 96,000 108,000 A 12,000
oJ1g=i g 56,000
OO0I&EIIY AHMEIE A AL 40,000

03 HAH2ZHI 23,000 35,000 A 12,000
O=UA2IIY dst™ | g2 23,000

202 044l 25,200 35,200 A 10,000

01 =L YI 25,200 35,200 210,000
QIIZE:X OHAE HIMFZ 25,200

203 &R =&l 5,000 7,000 A2,000

03 Al =LA R 5,000 7,000 A2,000
OFX=I 2 RAI|2 22 5,000

301 et ag 5,000 5,000 0

07 2B =&Y 5,000 5,000 0
ORXUa ENL =& 5,000

IR QAUMEE R 14,000 14,000 0

301 LB A= 10,000 10,000 0

RIS R 10,000 10,000 0
ORIZMZI IR = 10,000

303 ZA&3 4,000 4,000 0

01 Z&3 4,000 4,000 0
OJIY= R=AZ L&z 4,000

JIEENEES HAHAA =8 &8 70,400 74,000 23,600

201 2 EH2HH| 9,200 9,200 0

01 At 2t2lbl 9,200 9,200 0
OSTUAR OlHIY AMNBSRIC 4,200
OFEXNRX 2 243 5,000

301 LB ez 61,200 64,800 A3,600

N JIEtE &3 61,200 64,800 A3,600
OFNRX Az =F 61,200

OlMIIey THEKXIA 8,798,946 12,376,000 A3,577,054




FAM: EXF X0
M ENRA(MY - SAIY/MEEE - DEFH
el 01&IIY MEXA (&2 dd)
- _ &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Al 4,923,372
S 3,875,574
OldJI Bx3 X (21) 5,572,233 10,958,000 Ab,385,767
X 4,735,872
& 836,361
408 MR HSA201H 5,572,233 10,958,000 A5,385,767
X 4,735,872
= 836,361
01 XM= 2 X 5,572,233 10,958,000 A5,385,767
ooy 2x= 5,572,233
X 4,735,872
& 836,361
EtAIE O1&D1Y x5 K& 3,007,963 1,418,000 1,589,963
403 RXIEHHSA=01 A 3,007,963 1,418,000 1,589,963
01 XS ExE 3,007,963 1,418,000 1,589,963
OEAIZ 0l™IIY EXx= K& 3,007,963
Ay & ADNEs 218,750 0 218,750
X 187,500
= 31,250
403 MRISHSA201A 218,750 0 218,750
X 187,500
= 31,250
01 HXSHMA2E xR 218,750 0 218,750
OADIEEE A& 218,750
X 187,500
= 31,250
22YE NUE doles 2RV M (Ls38F/L 23,512,000 30, 142,000 26,630,000
BHay )
X 11,547,000
= 11,965,000
INt= Jigt &4 188,000 178,000 10,000
AN MEE =X 60,000 68,000 A8,000
202 o4l 45,000 10,000 35,000
03 =20y 45,000 10,000 35,000
O2AXR Xl oiel MeEgx =& 45,000
301 L2 s = 15,000 18,000 A3,000
06 21 2toI =204l 1,500 3,000 A1,500
OMAFALE & ML 2ol =22(048| 1,500
07 221 =04l 13,500 15,000 21,500
OFXUY SXNA =F 13,500
LZHE g5 =4 128,000 110,000 18,000
201 2Er2gY| 69,000 51,000 18,000
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=228 AIUE
D ANSEXR JlgE =

o

M X
z
ol
rr
Il

d

0

- _ - &4
- B E9(BH) - NEAY - BES Ofl &t o4 St HIBE2
01 Ab=22keldl 30,000 50,000 20,000
I2HE g € 82 30,000
03 At2 I 39,000 0 39,000
o2l FNRA &3 39,000
202 ol 19,000 19,000 0
01 =UWo 19,000 19,000 0
OL=ZHME JRF2 19,000
301 LN = 36,000 36,000 0
NIlEt2a=s 36,000 36,000 0
OFXRA =2 28 36,000
310 =20l A 4,000 4,000 0
02 =M=E= 4,000 4,000 0
A=CIER 2 Hal BWHY A 4,000
dlneiE 3[elot =4 23,251,000 29,908,000 6,657,000
X 11,547,000
= 11,704,000
dinse Jgug A-(=1) 23,094,000 29,840,000 26,746,000
X 11,547,000
& 11,547,000
401 AIE2HIZ 208 23,094,000 29,840,000 26,746,000
X 11,547,000
= 11,547,000
01 Al &2 H] 22,844,000 28,890,000 26,046,000
OF Y WAL AL 22,844,000
X 11,422,000
& 11,422,000
02 Zeld 200,000 900,000 A700,000
OXYWSEALAY HHMYACEA 200,000
X 100,000
= 100,000
03 AIE 20 50,000 50,000 0
OAlZ2=08l 50,000
X 25,000
S 25,000
dlnei=3e|0t &2d X FXFX 57,000 68,000 A11,000
201 €erE gl 44,000 45,000 21,000
01 At 22l 44,000 45,000 21,000
OAMS4A Uz ¥ 22| 24,000
OdlndE HI=Ht 28 € 82 S 20,000
202 o4l 13,000 18,000 A5,000
01 =UWo 5,000 10,000 A5,000
OdlnHE HRFA 5,000




SA:

X XH -
o=

e
-

Xt5= X1 2t

=22 AUHE o

-
Chel: glogHE DAelot géﬂ - o o (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T

03 22/ 8,000 8,000 0
Od e Belot =4 FA 8,000

dIOE AHZE JIBtAIE (Aot=S) &X 100,000 0 100,000

401 Al & HIZ 2 0HHI 100,000 0 100,000

01 A&l 100,000 0 100,000
Qa A& H 100,000

QuESH Jls Zet 73,000 56,000 17,000

SZEHAIS ABFX 73,000 56,000 17,000

203 R F&Hl 73,000 56,000 17,000

03 A=A PR =AH| 73,000 56,000 17,000
OZHEA2LSE At acidw AE 23,000
O2=2Y HHESRZ & OHAHE = 20,000
OSAJIYXE AR =& 10,000
oARNE #X L el % 20,000

HERAAHI (S XID)(IIEHIIE 64,932 40,200 24,732

Jl=&Hl 64,932 40,200 24,732

FHM29 JI238t| 64,932 40,200 24,732

201 YEr2 ] 40,332 26,000 14,332

01 AbS 22|l 39,132 26,000 13,132
ORNM2F AtR22|H] 39,132

02 25234l 1,200 0 1,200
ORN2E 2323l 1,200

202 Odl 14,400 10,000 4,400

01 =20 YI 14,400 10,000 4,400
ORM2E SN 14,400

203 YR =&l 10,200 4,200 6,000

01 J|22Z L= 6,000 0 6,000
C2ZEENSHZE 6,000,000& 6,000

04 EN2I LR 4,200 4,200 0
©300Q! 0l &t 350,000& 123 4,200




